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valueA – Abort criterion for the iterative alignment in Calypso

Principle:    The transformation of the WCSₐ from the iteration a is compared with the     iteration (a-1).   
WCSₐ = Coordinate system after Iteration a						
[bookmark: _GoBack]deltaWCS = The difference of the WCS after one iteration


valueA 
Definition: valueA is the sum of all 9 coefficients of the rotary matrix from deltaWCS – 3 + the sum of all absolute values of the 3 translations form deltaWCS
Explanation: The sum of the coefficients of the identity matrix is 3.  The more the matrix changes the bigger gets the sum of the coefficients.   
This means: A WCS without changes has valueA = 0, the bigger the transformation, the bigger gets valueA.
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xBF = getActual("3D-BF").x
yBF = getActual("3D-BF").y
zBF = getActual("3D-BF").z
e1BF = getActual("3D-BF").euler1
e2BF = getActual("3D-BF").euler2
e3BF = getActual("3D-BF").euler3
aV = getActual("3D-BF").valueA
dD = differenceSystem("3D-BF").valueA
if LOOPi == 1
aVal1 = 0
aVal2 = getActual("3D-BF").valueA
dV = abs(aVal2 – aVal1)
Endif
if LOOPi > 1
aVal1 = aVal2
aVal2 = getActual(" 3D-BF ").valueA
dV = abs(aVal2 - aVal1)
endif
addToFile(pFil+nFil,xBF,tT,yBF,tT,zBF,tT,e1BF,tT,e2BF,tT,e3BF,tT,aV,tT,dV,tT,dD)
LOOPi = LOOPi + 1


What really is the value of valueA of a coordinate system 
        The value of valueA of the coordinate system is defined as follows: 
        valueA = the sum of fields of the rotational matrix -3 + Xnull + Ynull + 
        Znull. This means the value is 0 if it is not rotated or moved and the 
        more it is rotated or moved, the higher it is.
        By the way, the formula originated in Software-200 from Stiefelmaier. 
        However, you must note that a rotation also always changes the numerical 
        value of the zero point because the zero point is stored in the rotated 
        system.
        The absolute size varies from case to case.

        Note: 

        With an iterative orientation, the value of valueA migrates towards zero 
        in the basic system.

        In an iterative orientation that was not generated in the basic system, 
        the value of valueA does not move towards zero, but rather the 
        difference between valueA before iteration and valueA after iteration 
        moves toward zero.

        Example:
 
        Iterative break condition valueA if not as basic system:
        valueA for non-basic systems can be determined as follows:
        1. Place valA=9999 at the beginning of a measurement plan.
        2. In the post parameter of the iterative orientation enter 
        delta = valA - valueA
        valA = valueA
        3. In break condition inquiry if delta > permissible, then repeat
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